
QCM pronoms personnels, déterminants et pronoms possessifs 

Right answer + 3.  Wrong answer -1 

1) Don't worry about them, they will find ____ feet.   a) they b) their        c) them    d) these

2) Paula talked to ____ at the café.   a) we  b) he               c) she  d) him

3) My parents spotted ____ at the library.   a) we b) our            c) ours            d) us

4) I’ve got mine but I can’t find ______.   a) you         b) your           c) yours         d) you’re

5) Is ____ a tall girl with glasses?                 a) it           b) he            c) her            d) she

6) Sarah doesn't have a bike, can she use ____?  a) his b) him c) of him   d) her

7) We were brushing ____ teeth when the blackout started. a) us         b) our      c) them        d) the 

8) He kept looking at ____ in the mirror.       a) he         b) oneself           c) your            d) himself

9) He visited _____ uncle and aunt last week.  a) they b) him c) them d) his

10) I’ve got her keys, but I can't find ______ . a) its b) ours c) my d) your

11) The country has reinforced ____ support to the building of a world of peace and justice.                  
 a) its           b) his              c) her              d) it

12) ____ can never know what the weather will be like. a) It        b) Your    c) One d) There

13) Are _____ any tickets left for the concert?           a) they              b) their          c) theirs          d) there 

14) John came with his children and Sophie with _____.     a) hers         b) her    c) the her   d) the hers

15) Everyone was escaping the fire as fast as ____ could.     a) there     b) he     c) it        d) they

16) Is Michael a friend of ____? a) its b) our c) yours        d) her

17) You must wear masks to cover ____ noses and mouths!        a) yours       b) their       c) the       d) your

18) This is Graham’s shirt and this is also ____ jacket!                a) his        b) he        c) it        d) him

19) I see that you can’t stop eating these biscuits but you should taste ___ !       a) mines       b) the mines 
c) mine d) the mine

20) The company was in debt, therefore ___ had to lay off some of ___ employees. 
a) its /it b) it/its c) they/there                d) they/theirs

______________________________________________________________________________________

Name: Date:

Question 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Answer


